Agenda Item: 9.a.

MEMORANDUM

TO:

Programs Projects and Operations Subcommittee

FROM:

Terry Schumacher, Project Coordinator and Paul Woodward,

Olsson & Associates

SUBJECT:

Review and Recommendation of Bids Received for Pigeon/Jones

Creek Dam Site 15 Watershed Project

DATE:

April 30, 2012

On April 25, 2012, bids were opened for the construction of Pigeon/Jones Creek Site 15 Watershed Project in Dakota County. A copy of the bid tabulation is attached. The Pigeon/Jones Creek Special Watershed Project is a project developed by the Natural Resources Conservation Service and the P-MRNRD. Site 15 is a multi-purpose project designed to provide grade stabilization, flood control, and recreation in the Dakota County community. The project was also designed to reduce the amount of sediment leaving the watershed and deposited downstream in the Pigeon/Jones Drainage District. The tie back levees and off-line storage area will provide additional flood control. A Wetland Mitigation Bank will be developed as a part of the project.

Olsson & Associates designed the structure, and a letter from them is attached. The letter states that the apparent low bidder is Dixon Construction Company from Correctionville, Iowa. Their base bid was in the amount of \$6,502,371.53. The Engineers estimate for the construction of this structure is \$7,562,366.79. Olsson's reviewed the work history for similar projects and based upon Dixon's work history and references (attached) conclude that the contractor can successfully construct this structure. Olsson's recommends that a contract be awarded to Dixon Construction Company.

Management recommends that the Subcommittee recommend to the Board that the General Manager be authorized to execute a contract with Dixon Construction Company for the construction of Pigeon/Jones Creek Dam Site 15 Watershed Project in the base bid amount of \$6,502,371.53 subject to changes deemed necessary by the General Manager and approval as to form by District Legal Counsel.



April 30, 2012

Mr. Marlin Petermann Papio-Missouri River NRD 8901 S. 154th Street Omaha, NE 68138-3621

Re:

Pigeon-Jones Creek Dam Site 15 Additional Services

OA Project No. 007-1658

Dear Mr. Petermann:

Bids for the Pigeon/Jones Creek Dam Site 15 project were received, and were opened at the P-MRNRD headquarters offices at 10:00 a.m. on April 25, 2012. As indicated on the attached tabulation of bids, the Grand Total Bids for both Bid Packages A and B ranged from \$6,502,371.53 to \$7,233,134.15. The Engineer's Estimate provided to P-MRNRD in late March was \$7,562,366.79.

After reviewing and comparing the bids, it is my recommendation that P-MRNRD consider awarding one construction contract for both Bid Packages A and B for the total amount of \$6,502,371.53 to Dixon Construction Co. of Correctionville, IA.

Please feel free to contact me with any questions you may have.

Sincerely,

Paul W. Woodward, P.E., CFM

Omaha Water Resources Group Leader

Enclosure

CC: Terry Schumacher, P-MRNRD



PIGEON/JONES CREEK DAM SITE 15 PAPIO-MISSOURI RIVER NRD - Near the Village of Hubbard in Dakota County, NE

BID TABULATION 25-Apr-2012 OA #007-1658 10:00 AM Page 1 of 1

							-	Page 1 of 1					
			l						Сол	mercial			
	CONTRACTOR			Divon Co	onstruction	Commercial C	onstruction. Inc.	14.2	Condina Co			 	
tem No	ITEM			1				<u> </u>	Grading Co	Contracto	ors Equip., Inc	1	
em No		UNIT	QTY.	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extens
	BASE BID: For furnishing all labor, materials, and		 					<u> </u>					
	equipment required to construct new transmission main:	ļ	 				<u> </u>						
1				<u> </u>									
- 	Bid Package A Mobilization Construction Site Erosion and Sediment Control (SWPPP)	LS	1 1	\$321,000.00	\$321,000.00	\$410,000.00		\$200,000,00		\$250,000.00	\$250,000.00		
3	Misc. Structure Removals/Demolition	LS	1	34,000.00	34,000.00	6,500.00		\$6,000.00		\$10,000.00	\$10,000.00		
	Clearing and Grubbing	LS LS	 	50,000.00	50,000.00	15,135.00		\$100,000.00	\$100,000,00	\$25,000.00	\$25,000.00		
5	Common Excavation	CY	29,600	42,000,00	42,000.00	21,620.00		\$90,000,00	\$90,000.00	\$40,000.00	\$40,000.00		
6	Earth Fill, Class A Compaction (95% min, density)	CY	474,800	5.75	170,200.00	9.20		\$4.50		\$2.00	\$59,200.00		
7	Remove and Recompact Stage 1 Fill, 2' Depth	ČΫ	33,100	1.79 3,40	849,892.00 112,540,00	2.50 5.00	\$1,187,000.00	\$3.50		\$2.70			
8	Gravity Grout with Bentonite Slurry	ČΫ	2,000	45,00	90,000,00	56.00		\$2,50		\$3.00	\$99,300.00		
9	Locating Groutable Stage One Embankment Cracks	LS	1	43,000,00	43,000.00	16.215.00		\$110.00		\$50.00	\$100,000.00		
10	Earth Fill, Class B Compaction	CY	100,100	1.79	179,179,00	16,215.00		\$15,000.00		\$7,500.00	\$7,500.00		
11	NDOR "47B" Fine Aggregate Drain Fill	CY	8,300	38.00	315,400.00	32.60		\$3.90		\$2.70	\$270,270.00		
12	Granular Chimney Drain	LS	1	8,000.00	8,000.00	59,410,00		\$25.00 \$90,000.00		\$31.00	\$257,300.00		
13	Salvage and Spread Topsoil	SY	143,800	\$1,10	\$158,180,00	0,65		\$0,40		\$165,000.00	\$165,000.00		
14	Concrete, Class 4000	CY	252	\$1,500,00	\$378,000.00	\$525.00		\$743.00		\$0.42 \$462.00	\$60,396.00		
	Steel Reinforcement	LB	30,355	2.00	60,710,00	2.25		\$1.00	\$30,355.00	\$462.00 \$2.10	\$116,424,00 \$63,745.50	 	
16	Reinforced Concrete Pressure Pipe 36" Dia. w/Beveled Spig	LF	300	400.00	120,000,00	370.00		\$370.00	\$111,000.00	\$390.00	\$53,745.50 \$117,000.00		
17	24" Dia. D.I. Drawdown pipe Class 200, w/Restrained Joints	LF	73	200.00	14,600,00	175.00	\$12,775.00	\$176.00	\$12,848,00	\$390.00	\$23,725,00	ł	
18	Knife Gate Drawdown Valve and Appurtenances	LS	1	25,000.00	25,000.00	22,775.00		\$22,825.00	\$22,825.00	\$40,000,00	\$40,000.00	l	
	Slide Gate and Appurtenances	LS	1	10,000.00	10,000.00	10,540,00		\$10,560.00		\$15,750.00	\$15,750,00		
	6" Slotted PVC Collection Pipe	LF	2,505	10.20	25,551.00	14.30		\$14.30	\$35,821.50	\$13,730.00	\$32,565.00		
	6" Solid Wall PVC Drain Pipe	LF	1,814	9.80	17,777.20	16.50		\$16.50	\$29,931.00	\$13.00	\$23,582.00	l	
22	Cleanout Riser for Drainage Pipe	EA	5	180.00	900,00	1,350.00		\$1,350,00	\$6,750,00	\$900,00	\$4,500.00		
	Metal Fabrication and Installation	LS	1	34,000.00	34,000.00	25,350,00	\$25,350.00	\$25,000,00	\$25,000.00	\$12,500.00	\$12,500.00		
	Quartzite Rock Riprap, NDOR Type C	CY	5,140	48.00	246,720.00	48.00	\$246,720.00	\$34.00	\$174,760.00	\$52.00	\$267,280.00		
25	Pressure Relief Drain Fine Aggregate	CY	48	43.00	2,064.00	34.00	\$1,632.00	\$20.00	\$960.00	\$40.00	\$1,920.00		
	Settlement Plate	EA	9,00	\$1,250.00	\$11,250.00	2,300.00		\$990,00	\$8,910.00	\$1,250,00	\$11,250.00		
	Piezomeler	EA	13	\$2,500,00	\$32,500.00	\$2,800.00	\$36,400.00	\$2,224.00	\$28,912.00	\$2,000.00	\$26,000.00		
	Inclinometer	EA	4	5,000.00	20,000.00	5,700.00	\$22,800,00	\$5,321.00	\$21,284.00	\$1,500.00	\$6,000.00		
	Movement Markers	EA_	7	300.00	2,100,00	660.00	\$4,620.00	\$231.00	\$1,617.00	\$1,000.00	\$7,000.00		
	Seeding and Mulching, Type I Seeding and Mulching, Type II	AC	38	695,00	26,410.00	710,00	\$26,980.00	\$1,507.00	\$57,266.00	\$700,00	\$26,600,00		
32	Seeding and Mulching, Type III	AC	21	595.00	12,495.00	645.00	\$13,545.00	\$1,342.00	\$28,182.00	\$640,00	\$13,440.00		
	Drainage and Sediment Control Swale	AC	15	1,395.00	20,925.00	1,300.00	\$19,500.00	\$2,634.00	\$39,510.00	\$1,285.00	\$19,275.00		
	Drainage and Sediment Control Swale Drainage and Sediment Control Terrace	LF LF	4,150	3.50	14,525.00	2,20	\$9,130.00	\$3.00	\$12,450.00	\$2.00	\$8,300.00		
	Temporary Sediment Trap	LS	660 7	3.80	2,508.00	5.40	\$3,564.00	\$2.00	\$1,320.00	\$2.50	\$1,650.00		
	ASTM C67 Coarse Filter Aggregate	CY		300,00 38,00	2,100.00	1,600.00		\$1,000,00		\$1,700.00	\$11,900,00		
37	Geotextile Filter Fabric	SY	5,530	2.25	266.00 12,442.50	50,00 2.50		\$50.00		\$90,00	\$630.00		
	Fencina	LF	52,500	4.00	210,000.00	3.10	\$13,825.00 \$162,750.00	\$3.00		\$2,50	\$13,825.00		
	Sub total		02,000	4.00	\$3,676,234,70	3,10		\$3.00		\$3.02	\$158,550.00		
	Clearing and Grubbing	LS	1	\$12,000,00	\$12,000.00	\$10,810.00	\$3,919,247.25 \$10,810.00	\$15,000.00	\$4,283,097.50	205 000 00	\$3,649,337.50		
	Construction Site Sediment and Erosion Control (SWPPP)	LS	1	14,000.00	14,000.00	2,165.00	\$2,165.00	\$3,000.00	\$15,000.00		\$25,000.00		
41	Earth Fill, Class A Compaction (95% min. density)	CY	20,815	1.79	37,258.85	4.30	\$89,504.50	\$3,000.00	\$3,000.00 \$72,852.50	\$500.00 \$3.00	\$500,00 \$62,445,00		
42	Earth Fill, Class B Compaction	ĊŸ	31,555	1.79	56,483.45	4.30						<u> </u>	
43	Quartzite Rock Riprap, Type A	CY	1,676	48.00	80,448,00	46,50	\$77,934.00	\$3,85 \$34,00	\$121,486.75 \$56,984.00	\$2,50 \$54,00	\$78,887,50 \$90,504,00	 	
44	Quartzite Rock Riprap, Type B	CY	5,747	48.00	275,856.00	48.00	\$275,856.00	\$34.00	\$195,398.00	\$54,00 \$54,00	\$310,338.00		
45	Quartzite Rock Riprap, Type C	ÇY	1,229	48.00	58,992.00	48.00	\$58,992.00	\$34.00	\$41,786.00	\$54,00 \$54,00	\$66,366,00		
16	Gravel Surfacing, 3" Thickness	CY	1,123	35.00	39,305.00	38.80	\$43,572.40	\$24.00	\$26,952.00	\$31.00	\$34,813.00		
17	Gravel Embedment, 2" Thickness	CY	63	35.00	2,205.00	44.00	\$2,772.00	\$24.00	\$1,512.00	\$40.00	\$2,520.00	<u> </u>	
18	Accessible Fishing Pier	LS	1	100,000,00	100,000,00	91,300.00	\$91,300.00	\$97,020.00	\$97,020.00	\$50,000.00	\$50,000.00	 	
49	Geotextile Filter Fabric	SY	21,058	2.25	47,380,50	2,50	\$52,645.00	\$3.00	\$63,174.00	\$2.50	\$52,645,00		
50	R.C. Boat Ramp	SF	2,400	15.00	36,000.00	11.00	\$26,400.00	\$9.10		\$10.00	\$24,000.00		
51	Silt Fence	LF	3,600	\$1.70	\$6,120.00	2.40	\$8,640.00	\$2.04		\$2.35	\$8,460.00		
	Sub total				\$766,048.80		\$876,277.40		\$724,349.25		\$806,478.50		
	Construction Site Erosion and Sediment Control (SWPPP)	LS	1	7,000.00	7,000.00	2,160.00	\$2,160.00	\$6,000.00	\$6,000,00	\$500.00	\$500.00		***************************************
	Traffic Control (for all Bid Package A)	LS	1	5,000.00	5,000.00	5,400.00	\$5,400.00	\$1,000,00	\$1,000.00	\$3,500.00	\$3,500.00		
	Clearing and Grubbing	LS	1	4,000.00	4,000.00	8,100.00	\$8,100.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		
	Earth Fill, Class A Compaction (95% min. density)	CY	152,575	1.79	273,109.25	2.50 2,70	\$381,437.50	\$2.40	\$366,180.00	\$2.65	\$404,323.75		
6	Earth Fill, Class A Compaction (98% min. density)	CY	23,725	1,89	44,840.25	2,70		\$3.85	\$91,341,25	\$2,65	\$62,871,25		
7	Excavation, Common	CY	1,900	3.25	6,175.00	2.20	\$4,180.00	\$2.00	\$3,800.00	\$3.00	\$5,700,00		
58 59	Salvage and Spread Topsoil	SY	136,300	1.10	149,930.00	0.65	\$88,595.00	\$0.40	\$54,520.00	\$0.35	\$47,705.00		
50	Concrete, Class 3000 Steel Reinforcement	CY	369	595.00	219,555.00	381.00	\$140,589.00	\$366.00	\$135,054.00	\$366.00	\$135,054.00		
31	Steel Reinforcement	LB	37,925	1.25	47,406.25	1.30	\$49,302.50	\$1.16	\$43,993.00	\$1,15	\$43,613.75		
32	Gravel Surfacing, 2" Thickness Gravel Embedment, 2" Thickness	CY	2,261	35.00	79,135.00	30,00	\$67,830,00	\$16.00	\$36,176.00	\$32,00	\$72,352.00		
	15" C.M. Pipe Culvert (0.057" wall), Polymer Coated	CY	2,261	35.00	79,135.00	31.00	\$70,091.00	\$18.00	\$40,698.00	\$30.00	\$67,830.00		***************************************
	18" C.M. Pipe Culvert (0.057" wall), Polymer Coated	LF LF	83.00 143	\$29.00 \$35.00	\$2,407.00	35.00	\$2,905.00	\$38.00	\$3,154.00	\$28.00	\$2,324.00		
					\$5,005.00	\$38.00	\$5,434.00	\$38.00	\$5,434.00	\$34.00	\$4,862,00		

	DATE OF THE PARTY		7									
65 66	24" C.M. Pipe Culvert (0.057" wall), Polymer Coated	LF	68	47.00				\$52.00	\$3,536.00	\$42.00	\$2,856.00	
67	60" C.M. Pipe Culvert (0.159" wall), Polymer Coated	LF	68	160.00			\$14,144.00	\$275.00	\$18,700.00	\$210.00		
68	Flared End Section for 15" C.M. Pipe	EA	4	250.00			\$600.00	\$220.00	\$880.00			
69	Flared End Section for 18" C.M. Pipe	EA	4	300.00				\$242.00	\$968.00	\$200.00		
70	Flared End Section for 24" C.M.Pipe	EA	2	380.00			\$570.00	\$330.00		\$300.00		
	Flared End Section for 60" C.M. Pipe	EA	2	1,500.00	3,000.00	1,500.00	\$3,000.00	\$3,300.00		\$1,750.00		
71	42" Dia. R.C. Pipe Culvert, Class III	LF	76	142.00	10,792.00			\$215,00		\$200.00		
72	R.C. Flared End Section for 42" R.C. Pipe	EA	1	1,400.00	1,400.00			\$3,850.00		\$2,800.00		
73	Geotextile Filter Fabric	SY	9,286	2.25				\$3.00				
74	Quartzite Rock Riprap, NDOR Type C	CY	10,154	48.00				\$34.00		\$2.50		
75	Heavy Duty Erosion Control Blanket	SY	9,566	1,40						\$52.00		
76	Turf Reinforcement Mat	SY	1,394	\$7.50				\$2.00		\$1.88		
77	Seeding and Mulching, Type I	AC	22	\$695.00				\$13.00		\$8.50		
78	Seeding and Mulching, Type II	AC	1					\$1,507.00		\$700.00		
79	Rock Construction Entrance	LS	1	595.00		1,620.00		\$1,342.00		\$1,600.00		
80	Silt Fence	LF		2,500.00		2,140.00		\$2,000.00		\$1,500.00	\$1,500.00	
81	Hay Bales (for Bale Checks)		9,458	1.70		2.40		\$2.00	\$18,916.00	\$2.35	\$22,226.30	
82	Cable Guard Rail	EA	235	15.00		22.00		\$19.80	\$4,653.00	\$22.00		
		LF	5,848	10.00		9.90	\$57,895.20	\$10.00		\$9.75		
83	Cable Guard Rail Terminal Section	EA	12	2,200.00	26,400.00	2,200.00	\$26,400.00	\$2,200.00		\$2,200.00		
84	Metal Fabrication and Installation	LS	1	10,000.00	10,000.00	6,040,00		\$6,600.00		\$7,500.00		
35	Signage, Type A	EA	17	200.00		650.00		\$300.00		\$300.00		
86	Signage, Type III	EA	3	200.00		700.00		\$250.00				
87	Settlement Plate	EA	2	1,250.00		2,270.00				\$500.00		
88	Cover Crop Seeding	AC	23	150.00		110.00		\$990.00		\$1,200.00		
	Sub total			150.00				\$204.00		\$125.00		
	Section A				\$1,629,877.25		\$1,605,070.50		\$1,423,299.25		\$1,631,117.13	
89	Bid Package B Mobilization	10		000	6,072,160.75		6,400,595.15		6,430,746.00		6,086,933.13	
90		LS	1	\$20,000.00						\$80,000.00	\$80,000.00	
91	Construction Site Erosion and Sediment Control (SWPPP)	LS		5,000,00				\$1,000.00	\$1,000.00	\$500.00	\$500.00	
	Clearing and Grubbing	LS	1	3,000.00		10,810.00	\$10,810.00	\$10,000.00		\$5,000,00	\$5,000.00	
92	Remove 24" CMP	LF	140	21.00	2,940.00	10.80		\$20.00		\$10.00		
93	Earth Fill, Class A Compaction (95% min. density)	CY	17,000	1.79				\$4.00		\$4.90		
94	Salvage and Spread Topsoil	SY	57,000	1.10		0.65	\$37,050.00	\$0.40		\$0.42		
95	48" C.M. Pipe Culvert (0.101" wall), Polymer Coated	LF	266	150.00		244.00						
96	Flared End Section for 48" C.M. Pipe	EA	2	975.00			\$4,320.00	\$138.00		\$120.00	\$31,920,00	
97	Timber Pile Bent	LS	1	5,000.00		9,600.00		\$1,650.00		\$1,350.00		
98	Steel Flap Gate for 48" CMP	EA	2				\$9,600.00	\$7,250.00		\$5,000.00		
99	Rock Construction Entrance	LS		1,800.00	3,600.00			\$4,565.00		\$5,000.00	\$10,000.00	
	Silt Fence		1 70	2,500.00			\$1,700.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	
01		LF	72	1.70		2.40	\$172.80	\$7.00	\$504.00	\$4.00	\$288.00	
	Sediment Log Silt Barrier	LF	530	\$5.45		3.25	\$1,722.50	\$4.00	\$2,120.00	\$4.00		
02	Seeding and Mulching, Type I	AC	21	\$695.00	\$14,595.00	\$710.00	\$14,910.00	\$1,507.00		\$700.00		———
03	NDOR "47B" Fine Drain Fill	CY	71	38.00	2,698.00	33.00	\$2,343.00	\$20.00		\$40.00	\$2,840,00	
04	Turf Reinforcement Mat	SY	2,450	7.50	18,375.00	8.70		\$13.00		\$8.50		
	Sub total				\$215,698.90		\$467,559.30	410,00	\$240,529.00	Ψ0.00	\$286,033.00	
05	Construction Site Erosion and Sediment Control (SWPPP)	LS	1	5,000.00	5,000.00	2,160.00	\$2,160.00	\$1,000.00		\$100.00	\$100.00	
	Clearing and Grubbing	LS	1	5,000.00		5,400.00	\$5,400.00	\$5,000.00				
07	Earth Fill, Class A Compaction (95% min. density)	CY	24,327	4.95		8.60	\$209,212.20			\$5,000.00	\$5,000.00	
08	Salvage and Spread Topsoil	SY	6,920	1,10	7,612.00			\$8.00		\$6.50	\$158,125.50	
	Rock Construction Entrance	LS		2,500,00		0.65	\$4,498.00	\$0,40		\$0.50	\$3,460.00	
10	Silt Fence	LF	1 0.075			1,700.00	\$1,700.00	\$2,000.00		\$1,500.00	\$1,500.00	
11	Seeding and Mulching, Type I		2,075	1.70		2.40	\$4,980.00	\$2.00		\$2.50	\$5,187.50	
12	Quartzite Rock Riprap, Type B	AC	3	695.00	2,085.00	1,500.00	\$4,500.00	\$2,068.00	\$6,204.00	\$1,500.00	\$4,500.00	
		CY	94	48.00	4,512.00	48.00	\$4,512.00	\$34.00	\$3,196.00	\$80.00	\$7,520.00	
12	Sub total				\$150,655.15		\$236,962.20		\$218,934.00		\$185,393.00	
13	Construction Site Erosion and Sediment Control (SWPPP)	LS	1	\$5,000.00	\$5,000.00	\$2,160.00	\$2,160.00	\$1,000.00	\$1,000.00	\$100.00	\$100.00	
14	Clearing and Grubbing	LS	1	3,000.00	3,000.00	5,400.00	\$5,400.00	\$5,000.00		\$5,000.00	\$5,000.00	
15	Earth Fill, Class A Compaction (95% min. density)	CY	20,447	1.79	36,600.13	4.90		\$4.00		\$3,000.00		
16	Salvage and Spread Topsoil	SY	7,360	1.10		0.65	\$4,784.00	\$0.40		\$0.50	\$71,564.50	
17	Rock Construction Entrance	LS	1	2,500.00	2,500.00	1,700.00	\$1,700.00	\$2,000.00			\$3,680,00	
18	Silt Fence	LF	3,868	1.70	6,575.60	2.40	\$9,283.20		\$2,000.00	\$1,500.00	\$1,500.00	
9	Seeding and Mulching, Type I	AC	3	695.00	2,085.00	1,500.00		\$2.00	\$7,736.00	\$2.35	\$9,089.80	
	Sub total			393,00	\$63,856.73	1,000.00	\$4,500.00	\$2,068.00	\$6,204.00	\$1,500.00	\$4,500.00	
	Section B						\$128,017.50		\$106,672.00		\$95,434.30	
-					430,210.78		832,539.00		566,135.00		566,860.30	
	TOTAL BASE DID.											
	TOTAL BASE BID:				\$6,502,371.53		\$7,233,134.15		\$6,996,881.00		\$6,653,793.43	
	Substantially Complete On or Before:	-		lune	1, 2013	lune 4	2012	1	1 2042		1 0010	
Complete and Ready for Final Payment On or Before: Addendum No, 1:			July 1, 2012 April 4, 2012		June 1, 2013 July 1, 2012 April 4, 2012		June 1, 2013 July 1, 2012 April 12, 2012		June 1, 2013 July 1, 2012 April 4, 2012			
Addendum No, 2: Addendum No, 3:				April 2	6, 2012	April 20	, 2012	April 2	20, 2012	April 3	20, 2012	
				April 2	4, 2012	April 24, 2012		April 24, 2012			24, 2012	
	Bid Guarantee:		d Bond	5% Bid Bond			id Bond					
Remarks:						0 /0 BIO	Solid	5% B	u DUNU	5% 8	lid Bond	Name of the last o
						Extension #119			1			
					d - changing	incorrectly - but	did not change		1			
				INTOCITION OF DE	u - Crianging	IIIICOITECUY - DUL						

DIXON CONSTRUCTION CO.

BRIDGE AND CULVERT CONSTRUCTION

President
don@dixoncon.com



Vice-President dave@dixoncon.com

409 DRIFTWOOD ST. • P.O. BOX 47 CORRECTIONVILLE, IOWA 51016-0047 OFFICE PHONE: 712-372-4224 • FAX: 712-372-4462

April 27, 2012

Kyle Graham Olsson Associates 2111 South 67th Street Suite 200 Omaha, NE 68106

RE: Iowa NRCS & Nebraska NRD Projects by Dixon Construction

Dear Kyle,

Please find below a list of Iowa NRCS and Nebraska NRD projects that Dixon Construction has previously completed.

Mill-Picayune Watershed Protection and Flood Prevention Project - Site M-8, Repair

Contract No.: 165-SWCD-MP-6-14

Location: Shelby County, IA Contract Amount \$284,475 Year Completed: 1997

Contracting Organization:

Shelby County SWCD 112 Morningview Drive

Harlan, IA 51537-2013

Contact:

Crawford County NRCS

Attn: Brian Meyers

3539 Southern Hills Drive Sioux City, IA 51106

Phone: 712-276-4648 Ext. 104 Inspector – Ray Brotherton

Waubonsie Creek Watershed – Sites M-4 & M-5

Contract No.: 129-SWCD-WC-7-20

Location: Mills County, IA Contract Amount: \$837,360 Year Completed: 1998

Contracting Organization:

Mills County Soil and Water Conservation District

204 W 5th

Malvern, IA 51551

Contact: Mills County Soil and Water Conservation District

Attn: Paul Hathaway 204 West 5th Street Malvern, IA 51551-0190 Phone: 712-624-8606 Inspector – Mark McCurdy

Little Sioux River Watershed Protection - Glen Ellen Subwatershed Rehabilitation - Sites 2-2, 3-1, & 3-2

Contract No.: 193-SWCD-LSGE-3-17 Location: Woodbury County, IA Contract Amount: \$628,711

Year Completed: 2007

Contracting Organization:

Woodbury County SWCD

206 1st St

Sergeant Bluff, IA 51054

Contact:

Woodbury County SWCD

Attn: Lewis Byers 206 1st Street

Sergeant Bluff, IA 51054 Phone: 712-276-4648

Inspector - Corby Walde 712-276-4648 Ext. 106

Silver Creek Watershed Project, Dam Site #11 - Papio-Missouri River Natural Resource District

Contract No.: N/A

Location: Burt County, NE Contract Amount: \$1,313,923.30

Year Completed: 2012

Contracting Organization:

Papio-Missouri River Natural Resources District

8901 S. 154th Street Omaha, NE 68138

Contact:

Olsson Associates

Attn: Paul Woodward 2111 South 67th Street

Suite 200

Omaha, NE 68106

Sincerely,

David R. Dixon Vice-President

Savid L. Difon